ﬂ""ﬂmv = ‘%\Mm7 (= 1326l

L | uy = L[4 |l
L?J\Aﬂm> - ﬂ)mdw?

_ y
[ ‘/ [06,4)= Lyl /7e,4)
BIYA=VN
)q, q})w,gm [V 6,dt)
= ﬁm(r) \GAZO/W 5~ - {Z/ﬁ

- C
£ - "5



g/u@«ef nesitsin

— B4
P17 =Z e RO 00
n, Ly
alw| V() D ~Crom
Exasple - s 2p (meo )
4}’[*) ) P[%) o Los[%—'—a ¢)
0,6417’4"7)7 o/if/]/(,
E(W/ ,' 25 Zp//’% =d)
Y B
JW(0)> = = AALXRY: )2/0>
_cE¢/k

_ (&
Yloobd) =7, e e/k Ly
- ? ‘sz
B @( r}é@o ({\/ G/ (p) + Zl‘) (V‘/ éﬂb)) e’ i/ﬂ



5': (/ﬁ» ¥ :o>(q)}w)’\t»>
< ( . Eﬂ/h)(@dfs}ﬁ/ﬁ
~—~—

=

Plnee b)) = Plned)
[Varle | nCMe& dipdle
| Shper pisrhion Shates (e aealized)
> de%zwf&k
i same L owm diff /

\







)
7
lza \

+

321

¥

\FL

)
le
Va
7P|

5/,

T

L

2, 1, ‘
V\,’

t\

7/

<VV\

/



